i/iads  40-150R

DHVISION OF COLD AIR PRODUCTS INC.

WARNING: Cancer

1201 Forum Way South - Fort Worth, TX 76140 e B
(817) 531-2665 - FAX (817) 531-3257 Sanden Compressor Bracket for

1963-84 Chevrolet 6 Cylinder Engines
w/ Points Distributor & Mounting Holes
in Cylinder Head.

Description

Sanden Compressor*
Bracket

3/8” Spacer

1/4” Spacer

3/8” X 1-1/2” Bolt
3/8” X 1-3/4” Bolt
3/8” X 1” Bolt

3/8” Lock Washer
3/8” Nut

0 3/8” Flat Washer

*Compressor not included w/ bracket kit

—
<

S OO NOODWN = H
©BROBANNBEN- QD

Insrtuction Sheet #71-40-150R - 11-13-13



SILITRn.,
LS,

SHILIELS
HiMod
LOOHLEA

Z WYESVIJ

" l.ll.r
-

=
T - Hvarisses
FM ) _fﬁ B

\
fﬁ- |
/ﬁﬂ1 ﬂ

a_MJ
b o
_/ﬁ “_,.u ez i

D lEdALE
EAMUL
CANE]

I HVHOYIA

- . .

o YOORIGTORT ¥ IND

i _ r n .../MI-I.I.LLL...-u ...ﬂu._.—._._..u.—
N

T
) _|H._ s
.,w,.n_._... %ﬁ //,; ._H.__ E ...__:_..f._:f”.u :_...u_._..._...i
it b

NN

B LF.L o=

[ = f

v [TIVORQGGGEY IND
A dum,] o

AADOITY T

, |
E
et
.,fl. A0Z 5T THOD

4

EMTBAALS
AAMO.
LOOELIM

Z HYdASVIQ

-HVYSFasE6E

L m.mﬂr.ﬂﬂu

ONTHATLS

HA MO
HL 1M
o L RKVEDY 1O
CESTAN [# ND
DADLMLY ¢ tih SR YASRLIGTOR L WD
NN . R TOPPY
A o i 3A00I1y d[dTIg
HVY9P9CH0EF WD
| U>Cﬁ:ml.u T
(!
_-.-,
!

.mh HMOSSEEAR0D



